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DYNAMIC STUDY OF A VIRTUALLY
ROLLING DISC

Yu Huidan
(Dept. of Phys., Zhejiang Normal Univ., Jinhua 321004, China )

Chen Bin
(Dept. of Mach., Peking Univ., Beijing 100871, China )

Abstract On the basis of the virtual motion of a rolling disc, we present a virtual dynamical
model according to the mechanical conditions of some constraints, and test the theoretical
solutions by means of numerical simulation. Meanwhile we have also solved the “singular”

problem when the disc falls down to the ground.

Key words rolling disc, rolling only, friction, numerical simulation



